BREBERZRDABRL I wwwapv89.com

il I = -

S5 =
= =

@ = » = Y 2. N K4 b= [ ] -
XEXZXFTERAZIO6FER-Fal)
EE m = & B |#E| EBE 5E
AKieBSUS316ME
FEBEERIE
FEABBERZAE
NFC 17-102(2011%)
FEERRTE - J|UGHH
B FISCHIRTEC-A (GRBTUVEI ST Z:E0R)
BRI EN BB EBEES] - BAEINEHE
1. |(BRZBEENRAEMEE < |1
R) BRI XXHER:
&Rl I 1. ABENEZ
2EMME - BAIEFEH
3R EGR - BB S S
438308 B R E i SR B mhm
200KA - MiE950KV R & 153k
A=
FN A R =0-Bh KB EE
FES4Rk:1P67
B2 Jh K -ARY . .
2 | A TEHLSKATI00KAE R | @ | 1
e BHRES - AFINEER
FERT - B EETEE
70*60*40CM*T2mm
3 PR EE T RO AR FE (BRBZEARM +ECAR T BEAH + [t /1
" |SUS304A 58 ¥& 2% 8 )
(A BEET RS + B HIER)
I Et
Bl [EEE
SR ViR
1. |6MEE EH1F- 2T ¥ SEEEROD165.2-EET5 < |1
EehE 128
2. |11KVERBT 25/81844 4 | 10
B R AR AK:
1205 -4-P260-L1000
3 2 IR E LA B AR - A - 200R 58 £ |1
’ 35RAX354A 7 +22mm
1209 B 4k 4
HZHEH-448-R1000 7
I\ &t




S\

-

710
mull

B E S T B E S

E R B R A S www.apv89.com
=

A )

%56*%q

-(¥ &

)

i%ﬁ*

EE i & BEfI|#E EE 5E
2 @it
1. | BEEMRAR -5 &% 8x200x1000mm-&E:& 13/ A 3
5305 #55/8- 108
- 2 e
2. |- s it % | 2
B S EIE E505E - BEK
y VAN E‘é ﬂ/\
3. [mmem ?%2'5&*“ AR BRIBR | 5 | 15
~F
A ZEMSDS Iz BT RE
100mm#zZ100mm-1=2++F481%
4. |kt BEKEI0E- 12 ek | 8 | 1
A
5. |PVCIREE 250 = 1
6. |PVCIRiEE 1,580 % | 1
N &t
& [64]
BEH B R GEES
1. [EEE4100mm2-600V K| 20
-248*10K XLPE-PVC BZEBR(V)ER
— Stk
Pl - i MERERRSBERAE
2. |FEE4£100mm2-600V K | 45
-3#H*15K
ReaZiasnTEs  |BeEEEPVC(IV)ELS
3. [EEE460mm2-600V wiRl- >k | 40
_D4R*203K XEREEESERAE
A
S
1. |HeSRE SRS % | 1
I T A ‘
s 2ot |
2. | TeRTR SR TEH % | 1
3. |BrmEnETR TR RIGEEEE #® | 1
7J<}}Téi$ﬁ?ﬁfr‘l LSRR
KB T TH2: 4S5 -100ADE-21%
4. |1EF4 D B #40 H5H E4E28 A 7-95 A nE-165 3|1
FIRTEAR 51722 5ADISANE-16%
3000Psi-LL_FIERER B KR




S
-
P4

Ml

B [ R E E

5 BB B R 23 www.apv89.com

KERFF K

\f-

Rl 7 % =l €

i

)

I5H

IZIIJ%

R &R B {11 |

b0

i |

%

218

ZIRRIZOEHIRE

LIR*LIR*1K o[ 1

ZRAE R+ L

o[ 1

ANEAE

1)

g

L ]
ITU]VSY Al.

=) &=

Ea

HEPBTERE

it L TEARM TIER:60XK

B AISCHIRTEC-ARRITU M BT & ER

S B RIS

SCHRTEC HESEBsRE T

A: BN 17- 102

) =TI 0] 25

Ry=hxR{3)/5

»m <h <om

iR

i

% &

!

!

5

6

10

15

2

30

Schirtec A
A = 68ys

i

b2

18

18

19

19

19

80

~ ER1(r=20m)
80 2(r=30m)

4

b8

8

8

]

81

8

8

90

20345

3

1

9

97

%

%

100

104

103

-~ E 4{r=60m)

{2

4

106

107

108

109

11

113

116

A o0yt M sopsERREFE




